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A husband; a dispute between Rabi Yochonon and Reish Lokish

OVERVIEW

XX 277 7°72 XX 27 said that the rule regarding whether the husband is considered
0°%y22 77°XW depends on the dispute between 5" ", whether 717 PIp> M PIp
"7 or not. The 70 writes' regarding a person who hit his >3 72y and he died
only after 24 hours, the owner is Mvd; however if another person hit the 5"y and he
died from the wound, he is 217 even if he died much later.
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The &3 did not want to say that whether °»7 7137 1°1P2 M7 "I or not is a

dispute of 2°81n, where they argue regarding one who sold his slave with the
stipulation that the slave continue to serve the seller for thirty more days® -
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Whether the seller is included in the exemption of 252 IR 2%, or whether the buyer

is included in this exemption. We see there is a 2°Xin NP2 whether 17 937 3P0 M 13 or
not; why did not the X713 say that it is *X1n> -

Mmoo explains why the X3 did not say it depends on a 2°Xin npYonn:
= 55905 W97 9199 7NN WINT 90T IN0DDT (x,x 97 xnp xa3) IINT SN NIINY

For there is one who explains that the argument is that »n"3 stresses »nnn, and

1'X0-5,%0 (o°wown) Nyaw states, X7 Thy? omi® iR O oR TR X3 .0p3 OP3 70 NOA DRI LW INHY DX X 172 DR WK 127 000
X377 1902 ° ap?.
2 mooin is explaining why do we say that it is a (5" ") @XM NP2 whether 7 7137 173p> M0 1PIp or not, when
we could say it is a (777 ' °R1 ') 2°RIN npYonn regarding killing an 115 72v.
3 During these thirty days, the seller has Mm% Pap in the 72y (he is using him), while the buyer has only 7137 1°3p.
4 If we maintain *n7 737 732 M0 PIp (the view of n"9), then if the seller killed the 72y during these thirty days, he
has the exemption of 2’1 X av; he is not liable if the 72y died after 24 hours. However if the buyer killed him, he is
always liable since the seller who has m17°0 1°1p is consider the owner.
5 If we maintain 7 9137 PP W2 M0 PIp (the opinion of °"), the buyer is the owner and he is included in the
exemption of 2°11* W 01, but not the seller.
® The X"wnnn amends this to read, “»%57 2°nY X3°X7 (instead of *3957 KT 1’7" X2X7T). The text of the X3 there
reads; RUTR 5157 251210 IN 21 P72 1uWS PR IR 2" 2 DWW NWRRWIW N By My id=1al aAnR® 17aY 577 RUANT
PPIP5 KD NIT°D 1PIP 920) 1905 KT 915 DA IR 210 9T 1IWY SIW I T 937 AT DINT PIPS NS IR 930p 1NN
"»7 7T, It would seem that from the word "20p' and onwards (both by »"3 and *"9) are not part of the Xn»72. See
“Thinking it over’.
7 See footnote # 1, where the P09 states 17> nnn N, this refers to the seller since the 72y is in his possession and
working for him; therefore the exemption of °n1* W& 01 applies only to the seller.
8 See footnote # 1 where the P10 states X177 1903 3 referring to the buyer exclusively who owns the 72y, therefore the
exemption of o°»1 W o1 applies to him.
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>"q stresses 1993, but their argument has nothing to do with "7 9137 1°3p3 M0 IR,

An alternate explanation why we did not say it is *Xin2:
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Or you may also say; even according to the one (n"7) who explains that the seller

is exempt because %7 HINT P°IPD M’ 1IP, it has no bearing on our case of @°7y33 71RY,
for only by the case of 72y does »"1 maintain 17 9137 1°122, and -
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That is because the seller of the 72y retains for himself the m9%2 (usage of the
72v) with an 725 % (good eye) and therefore it is "»7 717 71°3P2, however

generally when one has 1170 7°1p in an item, it is not >»7 737 P1p3. Therefore we cannot
say that the case of Hva (regarding o°v22 7nW) is a XN NP2,

SUMMARY

The npYonn regarding an 2"V is not necessarily attributed to >n7 737 1°1p2 M0 1P,
and even if it is, the M0 1°1p of an initial owner is stronger than the M9 7°1p of
the %v2.

THINKING IT OVER
Why are there two answers in NMpon; if the npY2mn between °" n"7 is regarding
2137 TIPS M IR, so what is the first answer, and if it is not, then why the need
for the second answer?

% This means in a good measure; since he was the original owner of this 72v, therefore even though he sold him, but
nevertheless he is retaining his rights to the 72y in such a great measure that it can be considered 77 Pip. [In PIp
m7s there are two types; one is where he merely owns the n17°9 (but not the 713 at all), the other is where he buys the
rights of the 7 for the m7a. It is perhaps this latter type that NN is referring to. See w"w.]
19 Tn our case of 319 *023, the 9¥2 never owned it before; therefore his 11" 117 is limited and will not be considered
7 1°Ip, even according to »'"A.
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